Advanced Algebra 2: CH variation and other common functions

Section 7.11: 1, 5, 7, and 9 solutions


1.  Pounds are directly proportional to kilograms, that is, pounds vary directly with kilograms.  
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 where y = pounds and x = kilograms and k is the constant of proportionality.
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c.  
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f.  The constant of proportionality is the slope of our linear function
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, namely 2.2.  The 2.2 represents that that there are 2.2lbs per 1 kg (2.2lb/kg).

5.  The number of houses is directly proportional to the square of the diameter, that is, number of houses varies directly with the square of the diameter.  
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 where y = number of houses, x = diameter and k is the constant of proportionality.
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c.  
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7a.

Let x = pressure (no. of psi.)

Let y = volume (no. of ft3)
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7b. See graph

7c.  
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7d.  There are no zeroes to the function 
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9a.

Let y = no. of units signal strength

Let x =no. of kilometers
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9b.  
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9c.  
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9d.  Close to the station, the signal is so strong it can drown out other stations.
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